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Four pens cost 80p. E:>

How much will five of the same pens cost? £100

D

What is the scale factor of the enlargement?

3

Hem 12 cm

Werite down the ratio of circles to squares.
H OOCON OCOO N OO0 N 000

Solve the equation a + 45 = 76 a=3l
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)] Which angle is obtuse?

YA

A recipe for 2 people uses 30 g of butter. |50 9
How much butter is needed for 8 people?

Werite down the ratio of squares to triangles.

W AAA M AAA M AAA M AAA
How many metres are there in 7 km? 7,000





image3.png
Flashbalck U4 Year6 Week1 Day3

D)

2

How many degrees are there in a right angle? "

90

Eva mixes 2 parts of juice with 3 parts of water

If she uses |0 parts of juice, how many parts of

water should she use? 15

Find the perimeter of the square.

2lcm

Round 7,825 fo the nearest hundred. 7.800
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D} Work out the missing angle. [)L
o

The parallelogram is enlarged by scale factor 4

How long are the sides of the new parallelogram?

Sc- 20 cm, 60 cm

15 cm
Write down a unit you would use fo measure area.

cm?, m? efe.

Multiply 5.3 by 7 371





image5.png
F|QSthCk u Year6 Week 1

D)

Work out the missing angle. 310°
&

For every £3 Jack has, Eva has £5
Jack has IS £25

How much money does Eva have?

Find the volume of the cube. 1000 em?

Work out g of 60 36




